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ML9 Chapter 8 Problems of the Week Answers

BLM 8–4 Chapter 8 Problems of the Week

1. 10 dimes, 20 nickels, and 80 pennies. Let 
x = number of dimes. 10x + 10x + 8x = 280, therefore, x = 10.

2. d = vt, d1 = v1t, d2 = v2t, v1t + v2t = 100, 100t + 50t = 100, 150t = 100. t = 100/150 hours, or 2/3 of an hour, or 40 min. They will meet 40 min after they leave.

3. 4, a, 4 + a, 4 + 2a, 8 + 3a, 12 + 5a, 62

62 = (8 + 3a) + (12 + 5a)

62 = 20 + 8a
42 = 8a
5.25 = a

The “Fibonacci” sequence is 4, 5.25, 9.25, 14.5, 23.75, 38.25, 62.
4. (6751x + 3249y) + (3249x + 6751y)

= 26 751 + 23 249

10 000x + 10 000y = 50 000

x + y = 5

(6751x + 3249y) – (3249x + 6751y) 

= 26 751 – 23 249

 3502x + (–3502y) = 3502

x – y = 1

x = 1 + y

(1 + y) + y = 5

2y = 4

y = 2

x – 2 = 1

x = 3

Therefore, x = 3 and y = 2.
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